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(1) Bx +2y)(x — 6y) (2) (4a +7b)(2a + b)
= 3x% — 18xy + 2xy — 12y? = 8a® + 4ab + 14ab + 7b*
= 3x2 — 16xy — 12y? = 8a® + 18ab + 7b?
(2) (5a —2b)(a+ 3b) (4) (7x —3y)(2x — 5y)
= 5a? + 15ab — 2ab — 6b? = 14x2 — 35xy — 6xy + 15y?
= 5a? + 13ab — 6b? = 14x? — 41xy + 15y?
ZUDe3
(1) (x+3)(x—3y—2) (2) (—2a + 3b + 2)(a — 2b)
=x?2—-3xy—-2x+3x—9y—6 = —2a’ + 4ab + 3av — 6b* + 2a — 4b
=x?-3xy+x—9y—6 = —2a%* + 7ab — 6b* + 2a — 4b

*ORIELT, REXEECIRBEBLELEL S,
5158 (& |H1E IADOE] 1-3ZBIOEE (1)

FEDNTN —

(FEBER) FEOARZANTZERAFTTDOEENTETDILDICED,
(REG)]

N(x + 3)(x + 5HDEBICDNTOABB CTEFSADDD ED,

‘: :i (x+3)(x+5)
= x%? 4 5x +3x + 15

EoCEBICEATD

N

AN /)
P B BE |
\?—E?é/ud)éf—D [BEICERITDNE] &3, EARTTED? y

(BRDBZZNEF UL D)
(x+3)(x +5) ZEHEIC x2+8x+ 15 [CEREIDICIE: -

(RIREQ)] DfFsRe (MB/RE] & 5818 BAICPvILET,




